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Parameter Value Std. Error
Y Range 1569,3372 10,3268
IC 50 206114 86574

Slope factor 0,3221 0,0359

Figure S7A
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Parameter Value Std. Error
Y Range 108,1077 10,5881
IC 50 2.1905 0,9595

Slope factor 0,5425 0,0755

Figure S7B
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Parameter Value Std. Error
Y Range 106,5107 12,5714
IC 50 1,2640 0,7154

Slope factor 0,5017 0,0802

Figure S7C
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Parameter Value Std. Error
Y Range 1025131  9,0726
IC 50 6,3506 2,38086

Slope factor 0,6493 0,1119

Figure S7D



Luminescence

Figure S7E
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Parameter Value Std. Error
Y Range 101,6656  6,2575
IC 50 4,8944 1,2144

Slope factor 0,7359 0,1086
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Parameter Value Std. Error
Y Range 99,6637 3,7326
IC 50 3,8544 0.5536

Slope factor 0,6888 0,0610

Figure S7F
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